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2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000
AEEEH 1 | = HHE X (ETIER + RER + sURiER + MEER)
1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)
] 1 [ = IR X B2 X (ETER + RIFERE + AIEE + BEEE)
0.240 m3 = 1.000 * 0.240 * (1.000 + 0.000 + 0.000 + 0.000)
HEH 2 |FaE = HIE X BA X (ETIER + RIEEE + IR + MEER)
0.710 m3 = 1.000 * 0.710 * (1.000 + 0.000 + 0.000 + 0.000)
HEH| 3 [FaE = (ARENE X JBA - Fmf) X (LTEE + WEER)) + (RElE X EdH X (RIBIEE + AEEE))
0.548 m3 = ((1.000 * 0.570 — 0.022) * (1.000 + 0.000)) + (1.000 % 0.570 * (0.000 + 0.000))
AEEE IR 1 |HE = HHE X (ETIER + RER + sURiER + MEER)
1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)
HARIE IR 1 |FdE = iHE X (ETIER + RIER + RIER + fEER)
1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)
ARG 2 |FaE = BEHIE X (ETEE + REERE + RIEEE + MEER)
1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)
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T T &% E ft E & (f & X )
RETEEEES ;. 22008700 L4k EtE]
| T@EEs | oo | TI#8% |OFBKEREIEPE(A)G30 L—+&S [ 03 | J—Fr&#  [d58Y RIL—EEALE (1200)
JE TR R G Y N A - -
SR B L 1 [Bd = WEIE X B X (ETHEE + R/IEE + SUEE + BEEE)
0.710 m3 = 1.000 * 0.710 * (1.000 + 0.000 + 0.000 + 0.000)
PEEHD R L 2 |HE = (UEAE X B - FmEfE) X LTIER) + GEHIE X ER X (RIUER + 3UIEE + fEER))
0.548 m3 = ((1.000 * 0.570 — 0.022) * 1.000) + (1.000 % 0.570 % (0.000 + 0.000 + 0.000))
7% Ly E 1 |SEmi = WEE X Ea X (ETEE + AEE + RIEE + HETE)
(PRI 0.050 m3 = 1.000 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000)
RG] 1| = SRR e R
(GHAEHRH]) 0.050 m3 = 0. 050
7% LY@ 1 [ = dmuiss s 1ok
(Jitin) 0.240 m3 = 0.240
7% Ly o Ko = mEEE L
CHii) 0.710 m3 = 0. 710
7% LY@ 3 Mo = mEEsE L
(Jitin) 0.548 m3 = 0.548
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T I % E  E & (8 &8 % )
BEEEEES . 22008700
[ T@EE= | 02 | TEE% |Q&KBKEREIEPEA) 30 = [ o1 | J—Fr&% |miEERH-EIZE (1200)
[EL] FHEEEEE A T
S B 1 [E = (ETEE + REVIEE + AMIEE + HEEE) + (GEFRAE - %@imiig) < HFREPE) < bk
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000
SR 1[5 = WEIE X (ETHER + AER + AIER + MELER)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
fie 1 1[5 = IR X B4 X (ETHER + RER + AIER + MELER)
0.480 m3 = 1.000 * 0.240 * (2.000 + 0.000 + 0.000 + 0.000)
] o [Bik = WHIE X Er X (ETER + RAEIER + AWIEE + MEER)
1.420 m3 = 1.000 * 0.710 * (2.000 + 0.000 + 0.000 + 0.000)
$ie 1 3 [k = (GEEIE X B4 - Emi) X (ETER + MEER)) + GEHIE X Eh X (REIEE + AWIER))
1.096 m3 = ((1.000 * 0.570 — 0.022) * (2.000 + 0.000)) + (1.000 * 0.570 * (0.000 + 0.000))
%A IR 1 [BE = WEIE X (ETHER + AER + AIER + MELER)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
A1 IH 1 [BcE = IR X (ETHER + AER + AIER + MELER)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
A1 IH o [Bi = WHE X (TR + R/EERE + AWEE + MEER)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
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T I % E  E & (8 &8 % )
BHEEEMES . 22008700[ LH)EEHE]
[ T@EE= | 02 | TEE% |Q&KBKEREIEPEA) 30 = [ o1 | J—Fr&% |miEERH-EIZE (1200)
[EL] FHEEEEE A T
S 5 L 1[5 = IR X B4 X (ETHER + RER + AIER + MELER)
1.420 m3 = 1.000 * 0.710 % (2.000 + 0.000 + 0.000 + 0.000)
I R L o [BiE = (GEEIE X B4 - EEi) X LTAER) + GEEIE X JBAh X (RIER + AER + MELER))
1.096 m3 = ((1.000 * 0.570 — 0.022) * 2.000) + (1.000 * 0.570 * (0.000 + 0.000 + 0.000))
7% ALy 8 1 [sEEmE = WEIE X B X (ETHER + RIER + AHIER + MEER)
(BfZEIRH) 0.100 m3 = 1.000 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
7% L5y 8 1 [E = sEmns e La
CEE 0.100 m3 = 0. 100
7% ALy 8 1 [ = meEUE L&
(HE ) 0.480 m3 = 0. 480
7% L5y 8 2 |HE - mEEJE LR
(HEH) 1.420 m3 = 1. 420
7% ALy 8 3[R = mAIESE R
(HEH) 1.096 m3 = 1.096
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T I % E 6t E E (f B % )
BEHEEEES . 22008700
[ T@EE= | 02 | TEE% |Q&KBKEREIEPEA) 30 L—+&S [ 02 | —r&# [d5E#E(1200)
JETE R El G L Bl /B =
AL 1|5 = (ETEE + /VER + AIERE + MEER) + (GETFREIE - SsimbliE < MFmEig)) < gmik
14.000 m = ((7.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
R 1 |5 = AR X (TR + AMIER + AlIEE + MEER)
4.200 m2 = 0.600 * (7.000 + 0.000 + 0.000 + 0.000)
S 1|5 = R X B X (LTHEE + RAUER + AMIER + WMEER)
1.008 m3 = 0.600 * 0.240 * (7.000 + 0.000 + 0.000 + 0.000)
St o [EE = e X JEA X (ETER + AMIER + AER + MEER)
2.982 m3 = 0.600 * 0.710 * (7.000 + 0.000 + 0.000 + 0.000)
S 3[R = (GRbE X 545 - FEE) X (ETHER + MEER)) « GIHIE X JE5 X (RIER + AIIER))
1.841 m3 = ((0.600 * 0.440 — 0.001) * (7.000 + 0.000)) + (0.600 * 0.440 * (0.000 + 0.000))
EAE 1 |5 = AR X (ETHER + AMIER + AlIEE + MEER)
4.200 m2 = 0.600 * (7.000 + 0.000 + 0.000 + 0.000)
AL 1 |5 = R X (ETHER + AMER + LR + MEER)
4.200 m2 = 0.600 * (7.000 + 0.000 + 0.000 + 0.000)
AL o [EE = e X (ETIEE « RIGER + AMER + WMEER)

4,200 m2 = 0.600 * (7.000 + 0.000 + 0.000 + 0.000)
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T I & E Bt E & (f & %)
RETEEIERS . 22008700 [ LR ETE]
[ T@EE= | 02 | TEE% |Q&KBKEREIEPEA) 30 L—+&S [ 02 | —r&# [d5E#E(1200)
JE TR R G Y N A - -
PEEHRD R L 1 |FdE = HE X BEA X (ETIER + RIER + RIIER + MEIER)
2.982 m3 = 0.600 * 0.710 * (7.000 + 0.000 + 0.000 + 0.000)
PEHIEELO R L 2 |FE = (GRENE X EA - FER) X FTHER) + (BHIE X A X (REER + RIBER + WEER))
1.841 m3 = ((0.600 * 0.440 — 0.001) * 7.000) + (0.600 * 0.440 * (0.000 + 0.000 + 0.000))
By fE 1 |EFEERAEIEE = AR X BEh X (ETIER + RIMERE + RIIERE + MEIER)
(AR 0.210 m3 = 0.600 * 0.050 * (7.000 + 0.000 + 0.000 + 0.000)
Fk A5y 1 [ = WERRE S LR
(GhZEHmH) 0.210 m3 = 0.210
Ry fE 1 |FE = LS L&
(R 1.008 m3 = 1.008
¥ Loy e 2 |%E = mEFE LR
(A1) 2.982 m3 = 2.982
Ry fE 3 |HE = EHIEEsE LR
(FRHI) 1.841 m3 = 1.841
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T I % E  E & (8 &8 % )
BEEEEES . 22008700
[ T@EE= | 02 | TEE% |Q&KBKEREIEPEA) 30 = [ 03 | W—r&#H |[mE#wHEE(s00)
JEFE Rl IE S B L / Fil B =
S B 1 [E = (ETEE + REVIEE + AMIEE + HEEE) + (GEFRAE - %@imiig) < HFREPE) < bk
93.320 m = ((46.660 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
SR 1[5 = WEIE X (ETHER + AER + AIER + MELER)
27.996 m2 = 0.600 * (46.660 + 0.000 + 0.000 + 0.000)
fie 1 1[5 = IR X B4 X (ETHER + RER + AIER + MELER)
6.719 m3 = 0.600 * 0.240 * (46.660 + 0.000 + 0.000 + 0.000)
] o [Bik = WHIE X Er X (ETER + RAEIER + AWIEE + MEER)
8.678 m3 = 0.600 * 0.310 * (46.660 + 0.000 + 0.000 + 0.000)
$ie 1 3 [k = HIE X Eh X (ETMER + AIER + AWIEE + MEER)
8.118 m3 = 0.600 * 0.290 * (46.660 + 0.000 + 0.000 + 0.000)
%A IR 1 [BE = WEIE X (ETHER + AER + AIER + MELER)
27.996 m2 = 0.600 * (46.660 + 0.000 + 0.000 + 0.000)
A1 IH 1 [BcE = IR X (ETHER + AER + AIER + MELER)
27.996 m2 = 0.600 * (46.660 + 0.000 + 0.000 + 0.000)
A1 IH o [Bi = WHE X (TR + R/EERE + AWEE + MEER)
27.996 m2 = 0.600 * (46.660 + 0.000 + 0.000 + 0.000)
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T T &5 E ft E & (& B X )
RETEEIERS . 22008700 [ LR ETE]
[ TrEZE | 02 | THEE#H [QKBKEAREIEPEA) H30 L—+&S | 03 | —r&# [dsE#es(s00)
JE TR R G Y N A - -
PEAIE DR L 1 |FdE = HE X BEA X (ETIER + RIER + RIIER + MEIER)
8.678 m3 = 0.600 * 0.310 * (46.660 + 0.000 + 0.000 + 0.000)
PEHIEELO R L 2 |FE = (GRENE X EA - FER) X FTHER) + (BHIE X A X (REER + RIBER + WEER))
8.072 m3 = ((0.600 * 0.290 — 0.001) * 46.660) + (0.600 * 0.290 * (0.000 + 0.000 + 0.000))
By fE 1 |EFEERAEIEE = AR X BEh X (ETIER + RIMERE + RIIERE + MEIER)
(B2EHm 1) 1.399 m3 = 0.600 * 0.050 * (46.660 + 0.000 + 0.000 + 0.000)
-y fE 1 [ = WERRE S LR
(GhZEHmH) 1.339 m3 = 1.339
Ry fE 1 |FE = LS L&
(HRHI) 6.719 m3 = 6.719
¥ Loy e 2 |HE - EHIEE LR
(FEH) 8.678 m3 = 8.678
Ry fE 3 |HE = EHIEEsE LR
(FRHI) 8.118 m3 = 8.118
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T T &5 E ft E & (& B X )
BEEEEES . 22008700
[ TrEZE | 02 | THEE#H [QKBKEAREIEPEA) H30 L—rES | o4 | J—r&%  |HEHET (1200)
JE TR R G Y N A - -
AL LT 1 [k = (ETHEE + RIRVIER + AMER + WEER) + (GEFREE - Slimiig < fkFmEg) x oIk
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000
SR 1 R = IR X (ETIER + RER + AWER + MEER)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
i 1 [k = IR X B3 X (ETHER + AR + AWER + MEEE)
1.700 m3 = 1.000 * 0.850 * (2.000 + 0.000 + 0.000 + 0.000)
i 2 [BE = WHE X 2 X (LTHER + RIEE + AMER + HEER)
0.600 m3 = 1.000 * 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
HEEIH 1 [k = IR X (ETHER + RER + AWER + WEER)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
R A1 I 1 R = R X (ETIER + RER + AWER + MEERE)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
HREIELD 5 L 1 [k = IR X 5 X (ETHER + AR + AWER + MEEE)
1.220 m3 = 1.000 * 0.610 * (2.000 + 0.000 + 0.000 + 0.000)
HRBIELD 5 L 2 [BE = WHE X 2 X (LTHER + RIEE + AMER + HEER)
0.600 m3 = 1.000 * 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
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T I % E 6t E E (f B % )
REHEEEMES . 22008700[LHEEE]
IEEE | 02 | I@AM  [QFBKEREIEPEN 30 - &S [ 04 | J—r&# |mERET (1200)
JETE R El G N B S F & =
7% L5y 8 1 [SEm = IWEIE X B X (ETEE « R/IEE + AEE + BITE)
(BfZEIRHD) 0.100 m3 = 1.000 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
7% LAy 8 1 B = shdsmsg UE LR
CER 0.100 m3 = 0. 100
7% L5y 8 1 [ = mesus e
(HE ) 1.700 m3 = 1.700
75 LAy 8 o & = mEEYE LR
(BEH!) 0.600 m3 = 0.600
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T I % E 6t E E (f B % )
SRETEEEES © 22008700
| IBES [ 03 | T#E&#% [ABakETI=E [L-rES [ o1 | IW—Fr2# |[EglEx)
JEFe Al IEM S B o Bl / &t B =

AEE D)W 1 & = (BETHEE + RIEVER + BRIFER + HEER) + (GERRANE - WEmEiE) X SPREITE)) X OikinEk
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000

AEEEH 1 | = HHE X (ETIER + RER + sURiER + MEER)
2.000 m2 = 1.000 % (2.000 + 0.000 + 0.000 + 0.000)

] 1 [%k = e x Ea X (ETEE + fMEE + RIBLEE + HEER)

1.900 m3 = 1.000 * 0.950 * (2.000 + 0.000 + 0.000 + 0.000)

AAEIE IH 1 |HE = HHE X (ETIER + RER + sURiER + MEER)
2.000 m2 = 1.000 % (2.000 + 0.000 + 0.000 + 0.000)

HARIEIR 1 |JBE = ElE X (LTIERE + KR + RIBER + fEER)
2.000 m2 = 1.000 % (2.000 + 0.000 + 0.000 + 0.000)

PEHIHE D R L 1 |ZE = EHE X BEA X (ETHERE + RIMERE + RIERE + MEIER)

1.500 m3 = 1.000 * 0.750 * (2.000 + 0.000 + 0.000 + 0.000)

7% sy @ 1 [ShsEmsEcE = EE X 24 X (ETEE + /MEE + RIEE + MEEE)

(B 0.100 m3 = 1.000 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)

7% sy e 1 |BE = ssmEE s R

(ElZEHm A1) 0.100 m3 = 0.100
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T T &5 E ft E & (& B X )
RETEEEES : 22008700 L #)kETE]
TEEE | 03 | TIEAHm |[RBHKkEIS - &S [ o1 | IW—Fr2# |[EglEx)
JETER El G Nl F & =
7% Ty e 1 [Bok = sl s L
i) 1.900 m3 = 1.900
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T I % E  E & (8 &8 % )
BEEEEES . 22008700
| TE®EE | 03 | TIE4&H |ABKKEIE = [ 02 | %5 54 f7E%AS (800)
JE R EHEEEEE A T
S B 1 [ = (ETEE + REVIEE + AMIEE + HEEE) + (GETFREIE - %@imiig) < HFmEPE) < bk
22.000 m = ((11.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
SR 1[5 = WEIE X (ETHER + AER + AIER + MELER)
6.600 m2 = 0.600 * (11.000 + 0.000 + 0.000 + 0.000)
fie 1 1[5 = IR X B4 X (ETHER + RER + AIER + MELER)
1.584 m3 = 0.600 * 0.240 % (11.000 + 0.000 + 0.000 + 0.000)
] o [Bik = WHIE X Er X (ETER + RAEIER + AWIEE + MEER)
2.046 m3 = 0.600 * 0.310 * (11.000 + 0.000 + 0.000 + 0.000)
$ie 1 3 [k = HIE X Eh X (ETMER + AIER + AWIEE + MEER)
1.782 m3 = 0.600 * 0.270 % (11.000 + 0.000 + 0.000 + 0.000)
%A IR 1 [BE = WEIE X (ETHER + AER + AIER + MELER)
6.600 m2 = 0.600 * (11.000 + 0.000 + 0.000 + 0.000)
A1 IH 1 [BcE = IR X (ETHER + AER + AIER + MELER)
6.600 m2 = 0.600 * (11.000 + 0.000 + 0.000 + 0.000)
A1 IH o [Bi = WHE X (TR + R/EERE + AWEE + MEER)
6.600 m2 = 0.600 * (11.000 + 0.000 + 0.000 + 0.000)
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T I % E  E & (8 &8 % )
BHEEEMES . 22008700[ LH)EEHE]
| TE®EE | 03 | TIE4&H |ABKKEIE = —h2F  [EE s #ERAS (800)
JE R EHEEEEE A T
S 5 L 1[5 = IR X B4 X (ETHER + RER + AIER + MELER)
2.046 m3 = 0.600 * 0.310 * (11.000 + 0.000 + 0.000 + 0.000)
I R L o [Bik = WHIE X EA X (ETER + R[EIER + AWIEE + MEER)
1.782 m3 = 0.600 * 0.270 * (11.000 + 0.000 + 0.000 + 0.000)
7% ALy 8 1 [sEEmE = WEIE X B X (ETHER + RIER + AHIER + MEER)
(BfZEIRH) 0.330 m3 = 0.600 * 0.050 * (11.000 + 0.000 + 0.000 + 0.000)
7% L5y 8 1 [E = sEmns e La
CEE 0.330 m3 = 0.330
7% ALy 8 1 [ = meEUE L&
(HE ) 1.584 m3 = 1.584
7% L5y 8 2 |HE - mEEJE LR
(HEH) 2.046 m3 = 2. 046
7% ALy 8 3[R = mAIESE R
(HEH) 1.782 m3 = 1.782
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T I % E  E & (8 &8 % )
BEtEEEES . 22008700
| TiEEFS | 03 | THEAMm [KBHKkEIS [L-rES [ 03 | IW—Fr&% |E#mzk(As)
JiE ) EH I A
ST 1 [ = (LTEE + 2BV EE + RIEE + MEER) + (GEFREIE - Slimiiig < HFmEi) < obEkk
60.000 m = ((30.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
S ) 1 [ = mllE X (LTHEE + RIEE + AIEE + HEER)
18.000 m2 = 0.600 * (30.000 + 0.000 + 0.000 + 0.000)
$i 1) 1 [ = mllE X B X (ETHEE + AER + AMER + WEER)
5.760 m3 = 0.600 * 0.320 * (30.000 + 0.000 + 0.000 + 0.000)
S IR 1 [ = mllE X (LTHEE + RIEE + AIEE + BEER)
18.000 m2 = 0.600 * (30.000 + 0.000 + 0.000 + 0.000)
AL 1A 1 [ = mlle X (ETHEE + RIEE + RIEE + HEER)
18.000 m2 = 0.600 * (30.000 + 0.000 + 0.000 + 0.000)
JEHELD R L 1 [ = mllE X BEh X (LTHEE + 2ER + ARER + WEER)
3.060 m3 = 0.600 * 0.170 * (30.000 + 0.000 + 0.000 + 0.000)
75 1 [Bismpiscs = e X 85 X (ETER + [ER + RHEE + MEER)
(BZEIRH) 0.900 m3 = 0.600 * 0.050 * (30.000 + 0.000 + 0.000 + 0.000)
7% 45y 1 [ = Gtims s -
) 0.900 m3 = 0.900
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T I & 2 ¢+ E &8 (5 & % )
B EEIEES . 22008700 HA)EEHE]
TiEEE | 03 | IHEAH [ABEHKkEIE [L-rES [ 03 | W—ra% |R##ik(As)
= EH A
7%y @ 1 & = g e+ E
(HiEED 5.760 m3 = 5.760
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T I % E  E & (8 &8 % )
LEHEGEES . 22008700[ L HEEEE]
| TiEEFS | 03 | THEAMm [KBHKkEIS [L-rES [ 04 | JL—r2% |[E##Ek(Co)
JiE ) EH I A
ST 1 [ = (LTEE + 2BV EE + RIEE + MEER) + (GEFREIE - Slimiiig < HFmEi) < obEkk
60.000 m = ((30.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
S ) 1 [ = mllE X BEh X (LTEE + 2ER + ARER + WEER)
1.800 m3 = 0.600 * 0.100 * (30.000 + 0.000 + 0.000 + 0.000)
$i 1) 1 [ = mllE X B X (ETHEE + AER + AMER + WEER)
4.860 m3 = 0.600 * 0.270 * (30.000 + 0.000 + 0.000 + 0.000)
S IR 1 [ = mllE X BEh X (ETHEE + 2ER + AMER + WEER)
1.800 m3 = 0.600 * 0.100 * (30.000 + 0.000 + 0.000 + 0.000)
AL 1A 1 [ = mlle X (ETHEE + RIEE + RIEE + HEER)
18.000 m2 = 0.600 * (30.000 + 0.000 + 0.000 + 0.000)
JEHELD R L 1 [ = mllE X BEh X (LTHEE + 2ER + ARER + WEER)
2.160 m3 = 0.600 * 0.120 * (30.000 + 0.000 + 0.000 + 0.000)
75 1 [ = asmss U8 R
CES 1.800 m3 = 1.800
7% 45y 1 [HE = wmeEUE LR
(HEH) 4.860 m3 = 4.860
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T I % E 6t E E (f B % )
BEHEEEES . 22008700
[ T@#%s | 03 | TI#EE%M |ABHKEIE L—+&S [ 05 | J—r&# [d5E#E%AS(800)
JETER El G o Bl /B =
AL 1B = (ETEE + 2VIER + AIEE + MEER) + (GEFREIE - SsimbliE < MFmEig)) x ek
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
R 1 |5 = AR X (TR + AMIER + AlIEE + MEER)
1.200 m2 = 0.600 * (2.000 + 0.000 + 0.000 + 0.000)
S 1|5 = R X B X (LTHEE + RAUER + AMIER + WMEER)
0.288 m3 = 0.600 * 0.240 * (2.000 + 0.000 + 0.000 + 0.000)
St o [EE = e X JEA X (ETER + AMIER + AER + MEER)
0.372 m3 = 0.600 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
S 3[R = e X 545 X (TR + AMIEE + AER + MEER)
0.324 m3 = 0.600 * 0.270 * (2.000 + 0.000 + 0.000 + 0.000)
EAE 1 |5 = AR X (ETHER + AMIER + AlIEE + MEER)
1.200 m2 = 0.600 * (2.000 + 0.000 + 0.000 + 0.000)
AL 1 |5 = R X (ETHER + AMER + LR + MEER)
1.200 m2 = 0.600 * (2.000 + 0.000 + 0.000 + 0.000)
AL o [EE = e X (ETIEE « RIGER + AMER + WMEER)
1.200 m2 = 0.600 * (2.000 + 0.000 + 0.000 + 0.000)
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T I % E 6t E E (f B % )
BEHEEEES . 22008700[ M 4)EEEHE]
[ T@#%s | 03 | TI#EE%M |ABHKEIE L—+&S [ 05 | J—r&# [d5E#E%AS(800)
JETER El G o Bl /B =
JEHIHD R L 1|5 = R X B X (LTHEE + RAUER + AMIER + WMEER)
0.372 m3 = 0.600 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
JEHIHD R L o [EE = fbliE X JEA X (LTER + AMIER + AER + MEER)
0.324 m3 = 0.600 * 0.270 * (2.000 + 0.000 + 0.000 + 0.000)
] 1 |GREmECR: = WA X R X (LTHER + AIIEE + AER + MEER)
(BfZEIRH) 0.060 m3 = 0.600 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
7% LY@ 1 [B = SRR U 1
(PRI 0.060 m3 = 0. 060
TR 1 [ = mes s &
(HE ) 0.288 m3 = 0.288
7% LY@ 2 [Bi = mEEYE LR
(BEH!) 0.372 m3 = 0.372
TR 3 [k = WEEE LR
(HEH) 0.324 m3 = 0.324
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IBin

T I #

RETEEEES . 22008700

%

it B ox )

| IEES | o5 | TiEa#m |#EAEE v—t+8S | o [ w—tre# [s#ExEE
JE TR ERCI S A . S
S 1 [ME = AEIRmAE - AR R
310.000 m2 = 310. 000 — 0.000

B = B IHERE — 7R i

AN

310. 000 m2 = 310. 000 — 0. 000

e 1 SRR = OMEIRmA - (PSR X 2R
(e A1) 15.500 m3 = (310.000 — 0.000) * 0.050

S e 1 (B = EHESRAIEE U

GBS0 15. 500 m3 = 15. 500
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R1. TR {EIER

KIRDIFE-~Ti& A i = x x x
R R . 76;
1 1 1 1 ® ) ) b
# m & # A = &
W ® o 2 = i i B Z L
| o &) E # i
N & Y # g 1 e
& £ = =40} F S # = &
= ©) @ ® @ ® ® @ ®
@/D*2 | B2+ ®/@
(m) (m) (t/m-#) (m) (#) (t) (M=) (t) (/) (m)
HRE
KiEH
01-03 | 0.25 20 | 00118 ] 1.0 ) 0. 1888 1 0. 1888 7 [2.0mELTR]0.9~1.1
02-01 0.25 20 00118 20 16 0.3776 1 0.3776 7 |2 omF[0.9~1.1
(BEMEEETAS - BRI
TEEIE
1.5mEA T [ 2.0mEATF | 2. 5mEATT | 3. OmEATR | 3. 5mEAF [ 3. 8mLLF
HR
JKiE 3.0
(ZET) _ (ERMXERE) _
SRIE TEEIE ERAE% | HABEK EIERAEE [XRERAEE (W)
® (2. omAF[3. 5mA T ] 3. 8mEATF
0.9F AR
. 0.9~1.1
AR HA~15 1 7H 0. 5664 0.6t
1.5~2.0 K
0. 9T
w |0.9~1.1] 3.0
KE HT5
1.5~2.0




